Stoichiometry Example
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We want to synthesize the cancer drug cis-platin, which is formed via the reaction,



(NH4)2PtCl4  + 2 NH3  ( PtCl2(NH3)2  +  2 NH4Cl

If we want to make 1.0 g of cis-platin, how much (NH4)2PtCl4 must we use?

Alum Lab Calculations:
Let’s say you start with 0.985 g Al and make 14.8 g KAl(SO4)2(12 H2O product. 

What is the percent yield?
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[image: image3.png]2 Al(s) + 2 KOH(aq) + 6 HpO(liq) — 2 KAI(OH)4(aq) + 3 Ha(g)




[image: image4.png]2 KAI(OH)4(aq) + HySO4(aq) — 2 Al(OH)3(s) + 2 HyO(liq) + KoSO4(aq)




[image: image5.png]2 AI(OH)3(s) + 3 HpSO4(aq) — Alp(SO4)3(aq) + 6 HaO(liq)




[image: image6.png]Alo(SOy)3(aq) + KoSOy(aq) + 24 HyO(liq) — 2 KAI(SO4)p+12 H20




Molar masses: Al = 26.98;       KAl(SO4)2(12 H2O = 474.37 g/mol



(NH4)2PtCl4 


373 g/mol





PtCl2(NH3)2 


300. g/mol
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